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    ZTOF

.5

.0
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103 #CALLS= 0  43062  0   (UND HIST OVR)      

<X>=(492 +- 30)E-4   SD=(6326 +- 22)E-4
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    ZTDC

.5

.0

.5

.0

103 #CALLS= 0  37711  5351   (UND HIST OVR)      

<X>=(766 +- 35)E-4   SD=(6857 +- 25)E-4
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    PATH
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0

103 #CALLS= 0  43062  0   (UND HIST OVR)      

<X>=(1332 +- 1)E-3   SD=(1644 +- 6)E-4
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    ZTOF-ZTDC
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103 #CALLS= 1  23751  4   (UND HIST OVR)      

<X>=(-386 +- 23)E-4   SD=(3557 +- 16)E-4
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103 #CALLS= 0  37098  1277   (UND HIST OVR)      

<X>=(1904 +- 4)E0   SD=(7756 +- 28)E-1
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    TOF(BR) TWEST 
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103 #CALLS= 0  38091  717   (UND HIST OVR)      

<X>=(1879 +- 4)E0   SD=(8082 +- 29)E-1
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    TOF(BR) QEAST
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#CALLS= 0  37987  388   (UND HIST OVR)      

<X>=(5724 +- 29)E-1   SD=(5619 +- 20)E-1
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    TOF(BR) QWEST
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#CALLS= 0  38363  445   (UND HIST OVR)      

<X>=(5716 +- 28)E-1   SD=(5524 +- 20)E-1
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    TOF(EC) Q IN EAST EC
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0-1

#CALLS= 0  8779  22   (UND HIST OVR)      

<X>=(3716 +- 45)E-1   SD=(4250 +- 32)E-1
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X103

    TOF(EC) Q IN WEST EC
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0-1

#CALLS= 0  8483  8   (UND HIST OVR)      

<X>=(3866 +- 47)E-1   SD=(4356 +- 33)E-1
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    TOF(BR) (T1+T2)/2 HITS(BB,H,MM)
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0

103 #CALLS= 0  25450  140   (UND HIST OVR)      

<X>=(5631 +- 39)E-1   SD=(6236 +- 28)E-1
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    TOF(BR) TOF(Z) OF TRKS
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103 #CALLS= 10042  32334  46013   (UND HIST OVR) 

<X>=(5756 +- 27)E-3   SD=(4865 +- 19)E-3
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    TOF(BR) CHANNEL MAP FOR PAIRS

.0

.5

.0

.5

.0

103 #CALLS= 0  59039  0   (UND HIST OVR)      

<X>=(2509 +- 6)E-2   SD=(1362 +- 4)E-2
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    TOF(BR) CHANNEL MAP
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103 #CALLS= 0  83999  0   (UND HIST OVR)      

<X>=(4904 +- 9)E-2   SD=(2727 +- 7)E-2
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2   TOF(EC) T
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103 #CALLS= 0  10825  131   (UND HIST OVR)      

<X>=(1766 +- 5)E0   SD=(5309 +- 36)E-1
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    TOF(EC) CHANNEL MAP

00

00
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00
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#CALLS= 0  10956  0   (UND HIST OVR)      

<X>=(2455 +- 13)E-2   SD=(1377 +- 9)E-2


